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QUESTION 1

Which of the following neural network structures will share weights? (Multiple choice)
A. Convolutional neural network

B. Recurrent neural network

C. Fully connected neural network

D. All of the above

Correct Answer: AB

QUESTION 2

Regarding the convolutional neural network pooling layer, the following description is correct?
A. Pooling operation is realized by scanning window

B. The pooling layer can play a role in dimensionality reduction

C. Commonly used pooling methods include maximum pooling and average pooling

D. The pooled feature image becomes smaller

Correct Answer:. ABCD

QUESTION 3

What are the algorithms supported by Tensorflow? (Multiple Choice}
A. GNN

B. ZNN

C. RNN (Rig ht Answers)

D. HUT

Correct Answer: AC

QUESTION 4
PyTorch All existing versions support Python2 with Python3?
A. TRUE

B. FALSE
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Correct Answer: B

QUESTION 5

The training error will continue to decrease as the model complexity increases.
A. TRUE

B. FALSE

Correct Answer: A
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